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MATHEMATICS PLE 2O?2 EXTRACT

I Wrlte the followhg numbers ln ln

ftgures. Nine mlllion nhe thousqnd etghty
8even.

2 Wr$e fhe ploce vqlue of dtgit 7 ond I

tn the numberlS0,t{93.27

3 Arronge the followng numbers from

the loweet to the hrgh"st,f,, O.5, lOO,

-100,0.82, -1, 5

Ll Convert {32,000sec=-...-doye.--hours

5 Flnd the next two numbers tn the
followtng sequence.

3,q,27,81, ...._*.,

6 Use the divtsibiltty tesf method to
check tf 23,760 ts dvetble by ll.

7 Solvelx-8=lOx-20 I workour i-ri* ) :
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q Colculote tl.5k9 * ll3dog = -........k9 t0 LlI of the leorners tn PS ore boyc If
there qre t{5 boys h closs, how mony

leorners ore h the close?

I
Smprry ff= t2 Colculote the eum of 52{,321 ond

fl,671,32q

r3 One mothemotics book coets 5,200frw.
How much do 8 shilor books cost?

Irl Multply 8i5,327 by l2l.

r5 Use quick mulfiplicction to colculote.

525X99=
t6 Workout the followlng without using

q numberline.

o) (-5) *(*2)=
b) (.12)x(-8)=

t7 Find the greotest common fqcfor
(GCF) of 2l , 36 ond t{0.

t8 A closs of 55 pupls. There ore ltlboys

tn the closs. Ftnd the rqtto of boys to
girls h the closs.
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R"r"d "If {-520,850 to ihe neorest
Oolr". tl* t2 notes of 2,0O0Frw, 20

notee of 5,000Frw,15 notes of 500Frw

ond l0 cohs of l0OFrw. Colculote the

totol omount of money thqt Gqktre hqs'

ild th" rl* of ongle t ln the ftgure
Stmpltfy56xS+S=

Convert *,n*o q declmol number.

L." *uo"u"ement toble to convert

the followtng.
o) 25dm3 = '.*....--hg

b) j'70OI' m3

Durlng COVID H lockdown, o certoln cell

voluntoers dlsfrtbuted equolly 7,827,831

kg of beons qmong 333 fomtltes. How

mony kgs dtd eoch fomtly get?

I
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26 Cqlculqte the ctrcumference of the

figure below (use o =T)
27 Electrtc poles ore ftxed 20 metree

oport. Ftnd the dhtonce from the
ftrst to l0ls pole-

28 A mqn covered l20km of olourney. This

E only I of *," whole journey. Cotculote

the totol drctqnce covered for the
whole journey.

2q A troder bought o rodio ot
i50,000Frw. He lqter sold tt to o

customer otl,250,O00Frw. Whot wos
the percentoge proftt?

30 The LCM of two numbere ts t{0.One of
the numbere ts 20.If therr GCF rs 5.
Find the second number.

3l o) The oreo of o rectongla +oble ts
160m3. ff $s wrdfh rs 8m. flnd the
langth of the toble.

b) A wooden box hos q volume of
9,000,000cm3 tf *s leng+h is 2 m
qnd wtdfh l.Srn

t. Fnd its oreo
n. Fnd Fsheeht.1
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kg sold of o shoP tn 5 months ond

onswer the questtons thot follow.

7000

5000

5000

rto00

3000

2000

ro00

0
JANUARY FEBRUARY MARCH APRIL MAY MONTHS

o) In whtch month did the shopkeeper eellthe htghest quonitty of pototoes?

b) In whrch monl.h drd the shopkeeper sellthe emollest quontlty of pototoes?

c) Find the totol kilogroms pf pototoee sold rn qll the five months.

d) If one kg of pototoee costs 550Frw. How much moneY drd the shopkeeper get

from the sole of pototoes h ollftve months?

Ith 30,O00Frw to buy the ltems shown h the

toble below. o) the
Items Prtce/cost per ttem Totol omount

3ks of beons /ks 3,000Frw

6kq of suqor l,500Frw/kg

Sltg of meot /kg 15,000frw

-.-..... Looves of breod 8000Frw/loof 2,tl00Frw

Totol expendlture Frw

b) ftnd the bolonce

Bolonce
Frw
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3r{ o) Ftnd the volue of ongle X tn the trtongle CAB below
c

b) Two vehtcles A ond B moved towords eoch ol'lrer. They storted movlng ot
9'O0am qnd met of ll,O0qm. Thetr speeds were 60km/hr ond S5km/hr
respecttvely. Whqt dtetonce hod eqch covered by the ttme they mef?

35 o) By uslng the followlng dqtts 8, 0, 5, 7, l, 5. Wrlte the biggest whole number

forrned by these dq*e.

b) A buetnese wom<xr hos 300kg/600kg of mtxed beons whnh ehe eells ot
28oFrw/kg.If the mtxture contoins 200kg of the first type which costs
350Frw/kg. Ftnd the prtce of one kg of fhe second type.

\i
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